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(iif)  How could this truss be redesigned to inake it more rigid against varying
wind direction without changing the types of materials used? Use a
sketch in your answer.
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“The chassis for the vehicle could be made from a solid steel bar or hollow steel 3
tube. Both the bar and the tube have the same mass and cost per mee.

Solid steel bar Hollow steel mbe

Justify why a hollow tube would be used in preference to & solid bar o build the
Vehicle chasss.

e hollow tube Is stffer and more rigd because it has 2 greater second moment of are and greater
outer fbre distance than the solid bar.

‘Advantages of using hollow tube for chasss ;

« Greaterrigditystiffness
 Lower mass for the chassis and during construction.
© Cables better protected by feeding through the hollow tube.
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‘The diagram shows a scaffold supporting planks. The planks can be made from
Laminated timber, alurinium alloy or galvanised sicel.

Outline an in-service advantage of each of these materials when used a5 @
scaffold plank.

Laminated Timber;

1d due to glue line, non conductive, high specifc strength, easily worked.

Aluminium Alloy.
© Low density, good strength o welght ratio, orrosion resistant, easily formed.
Galvanised Steel

= Cormosion resistant, Impact resistant, good igidty and bending strength.
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Wind load 15 kN
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